TEE2ER (CI) BT H2O%ERE H30EE R1GEE
RIERAAO A 168,606 166,707 165,092
IKIEEEAD
JOaJ«—I)L
S A 108 61 62
FKIRFER - xmK (B7) &K (B7) xmK (B7)
KB KE % 36.4 37.6 38.0
I, 7= 'aZl *DIH* [ 0) £
~ATLD K =D P/ 0.77 0.78 0.73
JOoJ« - kIR E 1A
WwWAKRAO1BAYE=EDD 57
" 0 B/ 3.38 3.42 3.39
e 1A
BIUKEEZEE Fm3/ha 0.69 0.70 0.67
SUNCIE=2C0p) IKEAX—5 —FBE 18l/km 79.3 81.0 81.3
JO7Ja—)L
HEER m/A 6.30 6.38 6.45
#PERFIE - BHAE

X 29FREDEMELL. TKESBEZSHEAETT.




PIt&1{E | PIZtEfE | PIFt&1E o o
X5y B PI& ==Vv} S8R
(H29) (H30) (R1)
A101 T EBIERERE 0.35 0.35 0.35 (mg/L)  BEEREEAsy BEERIE
BRAHDERYEREKE (1B, EB%)
A102 20.0 20.0 30.0 B A BB KEEEE) x 100
AR (%) - = )
@ NUJ\O XS ABREK S (KRR NNI YRR $a7kies) / KEE
AL03 ! S S5 - 310 %) > (AKROBNIDSIREY (ki) /K5
BEEIXK #fEx 100
A (TOC) REKH S ($rkigEtE (TOC) RE/ ki) /
A104 23.3 19.3 23.3 %
0% st (%) KEEEEX 100
. . . (fE, BER) s (RARONZELEEE BKIRE) /KGR
KEEE | A105 ELEEREKEEEHS 0.0 0.0 0.0 2 (BAEOSZRERRR KARER) /A5
(%) #fBx 100
Y R KR (B, BER) 5 (KROSZEMIEREE BAISE) / KE
" 13.7 12. 14.
28 AL106 = 3 3 8 (%) E#fBEx 100
£ AL07 B ERE KSR 00 00 0.0 (fE, HER) = (BAie0LBEbEmERR @Ke) /
C #E R ' ' ' (%) IKEE%EEX 100
B BRI RS KB B, 18 @ S S A PR EUKASE
B AL08 ’ﬁamJ B4R K E (6.7 (6.7 133 (E, BELZ) = (¢ IR B BRI E R kit 8) /
= A (%) KBEAEMEX 100
X A109 EEEEKEEREELL - - - - max =(Xij/GVj )
A201 BAKBERE 64 64 64 (EH) EAKEERER
ll/_\7 7 =] " =z (ETFE 100 g % = K Epr 1 ,l/El\
7202 E_M‘@ KERE (BH) 5 Y e / (WeKAKBIRE (BR) SUKERRE/IRIERK
EPTEE km?) H1E)*x 100
TJ‘@E”"F'L"'EE 5 A (:335 = 7_: ; S ——— ; 7
“EE | a203 motmREEE 457 | 794 | 79.9 ()~ CERCRBLIRACERISE [ BACLES
=8) x 100
A204 BEHEBKE 97.7 94.0 97.9 (%) (BSR4 KA 58) x 100
A205 BFKAE/KEISER 13.8 11.8 12.1 (%) (BB KBTS / BF/KABAGEE) x 100
e | A301 KR EE B 0 0 0 (#5) ERIRUKEE B
EEERE e
A302 ¥FEMERNIBLESR 1.4 7.2 8.7 (%) (BB P RIME K B/ SE RISk ) X 100
o MEEREE | A401 ARMAKER 0.2 0.2 0.2 (%) (SABUA K BB LEER /467K ) x 100




B 4945 5% == PIZ, PIZtE1E | PIStE1E | PISTE(E B stEot
(H29) (H30) (R1)
B101 HI{FEKER 61.3 61.3 61.3 (%) (B CREKBKE/SKBEKE)* 100
B102 HUKE1m Yz D/KFRDINELE 0.0 0.00 0.00 (A/m?) KBRS IR E U B/ ERIEUK S
B103 #ITF/K= 5.5 7.2 7.7 (%) (HFokigzkE / ERIEUKE)* 100
B104 |pEsRFIA=R 51.3 50.5 49.9 (%) (—BF9EIKE/HEREES) x 100
B105 BRAMER 56.0 54.6 53.5 (%) (—BSKEUKE/MEEREE)x 100
B106 &= 91.6 92.5 93.2 (%) (—BEERKE/—BRARKE)x 100
B107 EUKBEREZE 4.1 4.1 4.1 (km/km?) BKE IR/ RTEH/KEE
B108 |EREmiR= 32.5 29.6 35.1 (%) (AR U EIIEE / BIIEE) x 100
it A= B109 JULT &= 0.4 1.0 1.4 (%) (RRUZ/)ULTE / JULTERESR) x 100

B110 ifK= 5.9 6.1 6.2 (%) (FRIRKE / ERIBIKE) x 100
B11l B%= 93.3 93.2 93.3 (%) (ERIEMKE / ERIBIKE) x 100

z B112 HBUE 89.6 89.7 89.6 (%) (FERIBIUKE/FERIAIKE)x 100

E B113 Eo/KthETEREEH 0.91 0.93 0.93 (=) BkithEsE S/ —H Fi98KE

v bt B114 #AKAO—AHZDEIKE 313 312 311 (L/8-A) (—BTEIBLKE/BRIERAKAD)x 1,000

= =) B115 |#a/KEIREZK 0 0 0 (=) FERBKEIRE

7K = B116 #AKERE 97.8 97.8 97.9 (%) (RIEHAK A O/H/K BRI A L) x 100

D B B117 ¥fRri&EMER 48.5 48.5 48.5 (%) (FiRtdas y Hehih - B& - STEMERDAETER) x 100

fi B201 FuKIBSEHEIS 0.00 0.00 0.00 (/10 - EFF) | 10ERIDFKIBSIEERAE / BKIgHK

@ B202 SEHEIEFHTKACOR 47.6 46.5 46.0 (%) (SIS UK A C/BRTERS K AD) x 100
B203 fA7KALCI— A7z DEFERERRVKE 143 144 145 (L/A) (REACERIE R 1/2+ REKTAMRER) x1,000/R

TEHRAAO
B204 |BEEOBHEIE 5.6 5.0 5.0 (£/100 km) | BROSBHAH /( BWIEE/100)
B205 EREROBHIIEG 0.0 0.0 0.0 (£/100 km)  EREROBHFLE/ (RHERIER/100)
E|HssEsE | B206 #HEBROSHBIS 0.9 1.4 1.6 (/100 km)  HEBWOBEME / (HREIER/100)
B207 IEHHEROEHNEIES 14.5 11.9 11.6 (4/100 km) IR EIROIHUTEL / GEARERIER/100)
B208 #aKEDSHHEIS 1.5 1.2 1.2 (14/1,000 1)  HKEDBHUFE / (FKHEE/ 1,000)
8209 AR AO— AZZ DFRK - BKES . N 0.02 (585) (WK - KBRS x BK - EKEIEEAKAD) / BT
5 fakAO

B210 |KEXMHIIFEREMOIER 0 1 1 (B1,/4%F) FRDOKEX HKENFEREMOER
B211 SHARNBREZE 2.4 1.8 2.4 (B/km) SHNIRE / BOKEER




PISTE1E | PIFTE(E | PISTEE _
Bz D48 X5 E55 PI& [==1}v) TEX
(H29) | (H30) | (R1)
B301 BKEIm3 HzDE/IEES 0.31 0.30 0.31 (KWh/m?®)  BAEREOa / FHEEkE
B302 EKEIm3 it DEETRILE— 3.84 3.78 3.64 (M3/m?) THRILE—HEE / EEEKE
\ K@ 1m3 U7z 0 —BtiRE (CO,) ; N .
& B303 e 219 208 194 (g-CO,/m)  [CEMbL#E (CO2) HEHE / FRIGUKER] x 10
s, =
=
= BEIE I ) R TR E—JEOBNERE | 2HEROB
& = B304 MAETAETRILF—FIRAR 0.000 | 0.000 | 0.000 (%) (EEAETHLT-RBORHRER / SHROR
. - HfEAZ) x 100
f B305 EKFLELDEMFIFR 100.0 | 100.0 | 100.0 (%) (EWFIRLE / FARETE) x 100
= ! IVENTRERIENE / RRRENRE
L B306 REREIEMDUYAIILE 38.0 33.0 35.1 (%) (VT hEREEENR / AR5
=) x 100
= . J $EER ST fMEAE ERIE
= e B401 S04 IUEEEKE - IER 58.9 59.9 60.3 (%) (ST IMEERSR + MELR) / BIELS] x
7K s EE 100
o B402  EIRDITEE 0.14 0.07 0.14 (%) (FTR BRI/ BHIEE) x 100
} TR B R T\ B KEREE /2
#t - BSOL AETFERIBIE SR 0.0 0.0 0.0 (%) e IR
[2%4: 1
B B (EEMRAESEBI TSN - BR - 5HEHRER
= B502 SEEMAELBELHER 70.3 71.3 71.3 (%) EDaEEY
I HEER TR B - B - FHERER S DA x 100
SEEMRESE B2 T\ 3 EHIE R/ S5
BS503 HEEMAFHIBEERE 25.8 25.3 25.9 (%) (10£(;E HRSHEEA TV SRS/ BILR)x
B504  EROEBIE 0.45 0.53 0.54 (%) (EF N - RIS/ BIRIER)x 100
BS05 EHDBER 0.000 | 0.000 | 0.000 (%) (BN - BHILE/BIRIER)x 100




PIStEIE

PIStEIE

PIStEIE

BiZE Par] X5 B PI£& BHfif STEX
(H29) (H30) (R1)
RE e 0.0 0.0 0.0 (%) (BUKEAE T 2B KHBRAE D) x 100
_ hk@ E 7:../ D‘-\"L\b % nrl‘l-\b
B602 RKHERODME(LE 15.5 15.5 15.5 (%) imig()jjﬁ PECHUERARBRRE )/ 2IRAHRHED)
(LR - HBEET HIROTMEL S KEEaED+ 5
B602-2 KR E BB LR 0.0 0.0 0.0 (%) SO HER DTS KA1 )/ B KRB ]
x100
L T RS TR TR Sk
B603 /K> JRROmEILE 2.7 2.7 2.7 (%) (REHFORE NI THHED/MEEHHR
JAREES)x 100
BRI SN - EAE SR EAEES
- B604  EUKHODMEILE 494 | 494 | 49.8 (%) (WRAROIE N RA RS RARS A
Z Z8)x100
%= B605 EIEDMEEE 19.1 20.3 20.8 (%) (HEEEE/EISIEE)x 100
L & B606 EREWOMEEE 33.1 33.1 34.9 (%) (BB ERDS SMHESIES/EH EIRIER)x 100
0 _ (EREBDS STHEEA DS 5 SHILE/ERE
= = B606-2 DTHE 62.8 63.5 65.4 %
y R O e RHBIEOmRE (%) FESER) < 100
7, = = e = =
e . (BB BRI ERDS STHEEIEE/EBRK
B607 KRB K SRR EE 43. 46. 49. o
o - 607 BEEHEKIEREKSEOMEE 35 6.3 9.3 (%) K ) 100
t 5607 B OTHERATE coc 24 5.4 y (BB KESEKERDS STEEA DS 5 B
2 B SRR BRSO MRS : : : (%) S/ BB ERREE ) x 100
o
N gr\, EEEH\ (: = ] J— Ly /1:
B608 ([SmEEIKEHEE 1939 | 197.0 | 200.5 (%) (:)ﬁflz{;%?’ FR T2 SR/~ BT
==)
(TAT SRR R, SR — O TSR R ) (T4
B609 ESMFEZEL 9.6 10.7 12.0 ) AR/ RE — B PERE) 0S5, M
WADIE
B610 IAMREEL 0.6 0.6 0.6 G) TR/ — B AR
B611 ISEMKIEREE 2.4 2.4 2.4 (BEF/100 km?)  IoaarkiEssss/ GRIEsKE/100)
B612 HAKEREE 0.012 | 0012 | 0.012 | (&/1,000 A) ke Bk AL/1,000)
B613  EE#MADIEKS > IRERE 0.006 | 0.09 | 0.097 | (m¥1,000A) E#AEAY>IDEE/(HkAD/1,000)




PIstE(E

PIstE(E

PIGtE{E

B D48 X% BS PI& (H29) (H30) (R1) I==1iv] STER
C101 EZEUNZHE 115.0 118.5 116.1 (%) [(BNE— SETBNR) / (EXER- TFEIFEHE) [x 100
C102 #EEUINZIEE 112.7 117.1 114.9 (%) [(E2UNE + EXIMNE )/ (EX£ER + EXHER)]x100
C103 #8UNZte= 108.1 112.3 114.6 (%) (FRUNZS /&)< 100
Cl04 REXREERIEE 0.0 0.0 0.0 (%) [RERIES/ (BN —FFEITHINE)]x 100
C105 AT (USRI A ) 2.2 2.3 2.6 (%) (1BRBYERRAS/INEEHIYNA ) x 100
C106 BEAESHEXR (BARHIURAT) 12.0 11.3 9.5 (%) (BABTERAS/EARNINAZT) X100
C107 EEBE— AHIZDIEKIEG 68,591 66,389 64,915 (FH/AN) FEKIRER /BB EFTE IS %
C108 #A/KUNE(CH T DIMEREEDEIS 9.5 9.7 9.9 (%) (B EMRSE/HEKINE)*x 100
C109 #E/KUNER(CH T DTEEBFEDEIS 8.1 7.6 7.0 (%) ({BEZEF S /FE7KINEE) x 100
C110 #&7KUNZR(C3 9 DIRMEINEDEIS 31.6 32.2 32.3 (%) (RTEANE /457K UNEE) x 100
Cl11l #E/KUNER (T T BEKWMBEDIEHDEEBERETEDES 32.5 32.5 32.0 (%) (GERMEDIZHDIEEBEERE TR/ FE7KINE) %100
i Cl12 #EKUNER(CH T D TEEBKREDEIS 427.8 426.1 426.2 (%) ({PZEKRS/HE7KINEE) x 100
€2 Cl13 HBEhURx 106.8 110.6 109.4 (%) (e i/ fa K EAf ) x 100
; a4 s Cl14 {HiaEMfh 210.8 210.9 212.2 (Fq/m3) fEKINER /BB IUKE
e iE ERER- (SRTEE: ARG ERSRE+ W
M %5 C115 #E/KERE 1973 | 190.7 | 194.0 (F3/m?) ;f%%;;ﬁg; E’;gﬁi;g AR+ B
= Cl16 | 1/E10 MY/ DRERNSE 1,671 | 1,671 | 1,702 (M) 1 MB10m*&7 DREMRRS
=3 C117 |1 820 m*Eiz DREMARE 3,851 3,851 3,922 (M) 1 ME20mM3YE DRERRS
C118 HEht= 2003 | 219.1 | 224.2 (%) (REVERE/REIEE)X 100
C119 HEEAERILE 50.1 51.3 52.1 (%) [l(i$ﬁ+§u%ﬁ+§¢ﬁﬁ§§§%+r’ﬁiﬂﬂ'ﬁ)/ aE - EXE5T Ix
C120 [EFELE= 178.3 171.5 165.3 (%) [BEEEE/(BAS+FEIRE +IHMAZEZEHRIEUNZS)]x 100
C121  EEEET S R R 1074 | 1058 | 103.9 (%) [ERRROEOOERRIATE/(HFERMNIR-SRMR
£RA)]%x100
Cl122 EFE&ELERR 0.13 0.12 0.12 (=) (BZ2INE -SZXTBENR)/[(FEEEEE + BREEEE)/2]
C123 ECEEEENE 6.9 6.7 6.6 (MYBM)  EmMEkE/ avETAE
Cl24 BBE—AHZOAIUKE 325,000 | 315,000 | 306,000 (m3/k) FRIHBBIUKE / BRBEPTEIES
C125 ®IEEKREDES 0.03 0.05 0.05 (14/1,000 1) | BRIESFERMEE / (NEFERM%/1,000)
C126 |HlEUn= 91.1 91.2 91.0 (%) (BIEAEE AE%E) x 100
C127 #E/KELEIS 12.3 11.1 9.0 (14/1,000 1) |[#aKIELLAER / (Fa/K4E%8/1,000)




PIETE{E | PISTEAE | PISTEIE . )
Bz o4 X5 B PI& ==tivs STE
(H29) | (H30) (R1)
C201 |/KEAiICRET 2 EtSEVSE 1.26 2.39 2.73 (I N) ENEVE L TV BAEIRIMTCE T 3885 / 2Ia%
C202 |SMEBEHEIERI 3.9 6.6 10.3 (BSRS/N) (BENPITHEE S IR ZEAR) / LBEH
C203 |PUEBHHEIERI 0.0 0.0 0.0 (BSRS/N) (BENPTHEE S TR ZEAR) / LHEH
:‘; AMBR | C204 |HfiigE= 63.9 60.7 58.1 (%) (TS / 2B x 100
. C205 JKIEEFETIIRERE 7.1 9.4 8.7 (£/N) WS DERIRRES / 2WER
A C206 |[ERRIREEH 0 0 0 (A-8) s (ERBHESE x HIEBL)
#4 C207 EEMHFHZAB 0 0 0 (A-B) s (EMBAZABE x BIEAX)
i C301 |1RStEEH 100.0 100.0 100.0 (%) (BEUKEA—5 —#] / KA —5 —5BEE) x 100
ES E o= s =R =, 2 7 A 3 =iy
- HE 0302 EKEE=EmER 0.0 0.0 0.0 (%) iﬁ(l)%o_%xn:ﬁ UTEiKismEKiEsREE ) /| £i%KMEsREESD) %
i Ca01  IREREEIC & BIBROIRLE 0.0 0.0 0.0 e y——
& - BB | C402 A>H—Fv NCLBIBROIBHE 7 7 11 (=) I IR—SADBRE
= a1 f C403 KEMRREZEIS 6.8 5.9 6.5 (A/1,000 A) | BEE#H/ GRITHEKALD/1,000)
_ &
; = C501 |[E=43& 0.059 0.060 0.079 (A/1,000 A) |E=HAE/ (GRIEEKALD/1,000)
| = C502 |74 — NMERINERIS 0.80 0.74 0.81 (A/1,000 A) |72 — REEAS / (BFEH8KALD/1,000)
s ; - C503 |EEERA% 50.0 70.0 0.0 (%) (EESAEEL / 72— NEE#) x 100
=B
3 C504 KEHY—EXICHITIBBEHGEES 0.03 0.01 0.01 (14/1,000 1) K@Y —EXSBERISMHER / ($87K4%8/1,000)
- C505 |KECHTB3EETHIS 0.32 0.12 0.19 (£4/1,000 #) | KE=ERISHER / (K8Kk4EE8/1,000)
C506 |AEREICH T DEBEMGEES 0.04 0.00 0.01 (££/1,000 #) | KENSEBEDISEHER / (#KEE/1,000)




